བསྒྱུར་རྩིས་དགུ་ཟླ་ཞུགས་སོ་།     九九乘法
	1×1=1
	2×1=2
	3×1=3
	4×1=4
	5×1=5
	6×1=6
	7×1=7
	8×1=8
	9×1=9

	1×2=2
	2×2=4
	3×2=6
	4×2=8
	5×2=10
	6×2=12
	7×2=14
	8×2=16
	9×2=18

	1×3=3
	2×3=6
	3×3=9
	4×3=12
	5×3=15
	6×3=18
	7×3=21
	8×3=24
	9×3=27

	1×4=4
	2×4=8
	3×4=12
	4×4=16
	5×4=20
	6×4=24
	7×4=28
	8×4=32
	9×4=36

	1×5=5
	2×5=10
	3×5=15
	4×5=20
	5×5=25
	6×5=30
	7×5=35
	8×5=40
	9×5=45

	1×6=6
	2×6=12
	3×6=18
	4×6=24
	5×6=30
	6×6=36
	7×6=42
	8×6=48
	9×6=54

	1×7=7
	2×7=14
	3×7=21
	4×7=28
	5×7=35
	6×7=42
	7×7=49
	8×7=56
	9×7=63

	1×8=8
	2×8=16
	3×8=24
	4×8=32
	5×8=40
	6×8=48
	7×8=56
	8×8=64
	9×8=72

	1×9=9
	2×9=18
	3×9=27
	4×9=36
	5×9=45
	6×9=54
	7×9=63
	8×9=72
	9×9=81

	1×10=10
	2×10=20
	3×10=30
	4×10=40
	5×10=50
	6×10=60
	7×10=70
	8×10=80
	9×10=90


ས་མ་མདའ་ཤང་སློབ་ཆུང་  ལོ་རིམ་དང་པོའི་  ཚེ་རིང་བསམ་གྲུབ་ཆེ་བ་             
